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1. Suppose that two functions f and g are both continuous at a point z = a belonging
to the intersection of their respective domains. Write a complete proof that the function
fg given by (fg)(z) = f(z) - g(x) is also continuous at the point £ = a. (Hint: Use the
corresponding Limit Law.) '

T4+ hﬁ.lpq by sterd by Mﬂﬂ% oot oo defiybons

- ‘ . 3 . T N -
1 15 Conbiapevs ab v e N r Oontinpeur T &

Aven €)= 3:{‘?\} _ /im j(x) :\jﬁj

P a ‘X’“"‘?ﬁ'c%
W went ke chow  (F83(x) = Hhargt) B 0 Tihuely at Xxza s

Lo #0e)- g0y = £(e)r g (< (+3)))

¥ P

j[} | ’—%wg ﬁ’m,‘% f@.w qpfg[;‘gg \

W0 e Fd i) = A B S srx) [ 7ot o

L X’)‘; 4 J X ~te Y~ ¢ \j {J [ :/g 2 ’:"; O andd \f;ﬂi ?(\Q‘B botts
ot by et & oy e

s ff“‘xj’jf&’\jv (since f}j

4 Conbinypis et \4;6“)

& 5 Q2 !tx: celg) = L0l L1 '
T sunce ﬁ*‘w (< JH/} €l j(t‘j J Gj] 5 continpars  qd K= q

gt
Lj {i?'?ln o
2. Using the limit definition of derivative, find ¢’(3), where g(z) = 2* + 2z.
- (3R] - g0 g (38 2(240) = (352 20(3)

Ny gos L B -
fi“m /fl/;i:____w ! ﬁ%{ﬁ;\ “%{
= 2o e
h

_ P?wv' {m’i. "?"gia /gm.-xé'i‘f’*& d
e R N ;

2 ; ]?) = ﬁi\h i(>/3 - g(‘j)w . A &+ D = lgﬂ

R

g

e

S =

¥ -3
e ) (x v '
= N3 /m--}_:-- e 3 S ;{gi



